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1-The most likely outcome of pulmonary embolism is:
· Chronic pulmonary hypertension

· Resolution

· Pulmonary infarct

2-The earliest event of thrombosis is:

· Activation of platelet

· Secretion of thrombaxan A2

· Adhesion of platelets to blood vessel

· Release of clot factor 3

· Activation of extrinsic coagulation cascade
هذا السؤال قالت د.صوفيا انهم حذفوه
3-Blood clot in pericardium is called:
· Hemopericardium

· Pericardium thrombosis( thrombosis should be  in the circulation )
· Antamortum clot (means not in dead person)
· petechia

4-According chemical mediators all true except:

· C5a , C3a , leukotrien, vasoactive amines, bradykinin mediate increase vascular permeability

· NO , prostaglandin mediate chemotaxic & leukocyte activation

5-According to 2ry TB all true except:
- The lesion is caused by anaerobic rods of bacteria. 
6-According chronic non specific inflammation what is the most likely to be
· Aggregation of lymphocyte , epitheloid cells & necrosis

· Aggregation of macrophage , neutrophil & fibrosis

·  Aggregation  of lymphocyte , plasma cells & fibrosis

7-Obesity is related to all except :

· Thyroid CA?
· Colon CA?
· Disease in gall bladder

· Atherosclerosis
· إلى الآن للأسف ما أعرف جواب هذا السؤال
8-Dystrophic calcification is in all except
· Calcified node of TB

· Atherosclerosis

· Psammoma bodies

· Multiple myeloma
· Fat necrosis.

9-Lung CA cause death more than prostatic CA b/c:
· Larger size

· More atypical cell

· More degree in grading

· Late discovery

· Difficult to reach it surgically

10-Chronic myloid leukemia problem is:
· t(9,22)

· t(8,14)

· t(14,18)

· deletion

11-venous emboli is more likely to lodge in :

· heart

· intestine

· kidney

· lung
· spleen

12-burkitt lymphoma is cause by any gene:

· MYC

· ABL

· Tp53

· RAS

· RB

13-Pt come to ur clinic  with difficulty in micturation & prostatic enlargement the most likely to be is:

· Hyperplasia

· Dysplasia

· Metaplasia

· Atrophy
14-paraneoplastic syndrome is 

· 2ry to metastasis

· 2ry to local effect of tumor in surrounding tissue

· E.g hypercalcemia is associated with parathyroid carcinoma

· Mostly endocrinal in origin
· Lung east dependent in this

15-mesothelioma is most likely to happen in :
· Asbestos

· Benzene

· Vinyl chloride

16-All r cancer except
· Mesothelioma

· Melanoma

· Lymphoma

· Leiomyoma

17-heroine overdose cause

· Cardiac arrest

· Respiratory arrest

· Death

هذا السؤال أيضا قالت د.صوفيا انه انحذف

18-IV drug abuser suffer from all except
· Cardia arrest from contaminant

· Viral infection

· Skin virittigo (شي غريب معناه على قوله الدكتورة بقع بيضاء في الجلد
· Skin infection at site of injection
· HIV

19-all applicable to alcohol abuse except:

· It is CNS stimulant

· It is metabolic rate is constant and equal 150 mg/kg

· 100 mg is the legal concentration in most countries

· It cause acute & chronic pancreatitis

20-according radiation all true except:
· These r high frequency waves

· These r long wave 

· Some of them is electromagnetic

· Some r energy particles

21-pregnant women eat cocaine she will not have:

· Infant hypoxia

· Placental abruption

· Spontaneous abortion

· O2 can not reach the baby

· Decrease Ca level

22-staging ???
23-grading ?????
24-edema is caused by all except:

· Depletion of Na

· Increase hydrostatic pressure

25-the best diagnosis for cancer is:

· Histopathological 

· Histogenetic

26-according genes abnormalities in cancer:

· Loss of Tp53  result in cell can not divide

27-shock is characterized by all except:

· Hypotension

· Vasodilatation

· alkalosis
28-profound VD in septic shock caused by :
· Lipopolysaccaride of cell wall

29-granulation tissue all r true except:
· Aboundant cross link of collagen (لأن هو عنده شوي السكار هو اللي  عنده كثير
The previous answer is NOT 100% true.

· Macrophage

· Phagocytic cells

· New blood vessel

30-necrotic granuloma is in all of the following except:

· Syphilis

· Cat scratch disease

· TB

· Lympho venerum

· Forighn body

31-sarcoidosis is characterized by all except:

· Disease of known cause

· Bilateral Hilar node lymphopathy

· More common in women

32-mural thrombosis mainly it is in:

· pericardium

· Venous

·  Aorta
33- Regarding Haemorhage types, which is not correctly defined :-
· Petechia is small punctuate hawmorhages

· Echymossis may be fouynd in the internal cavities

· Hematoma is local haemorhage in tissues

· Congestion is large blood volume in local small venules.

· Hyperemia is locally dilated arterioles .

34- all of the above can cause cell injury:-

· ATP depletion

· Influx of Ca++

· Mitochondrial damage

· Oxygen derived free radicals.

· All of the above

35- which of the following organs or tissues is least likely to be affected by radiation:-

· Nerves

36- idiosyncrasy is:
· Unpredictable response to the drug

· Anaphylactic reaction in response to the drug
37-all of the following are true about macrophage except:
· It is converted to epithelial like cell

· It has no action in granuloma formation

· It is the factory of cytokines

· It is principle cell in chronic inflammation

38-complement increase vascular permeability through:
- rupture of the wall
- gaps between endothelial cells
- Increase hydrostatic pressure of blood
- decrease oncotic pressure of tissue
- something in basement membrane

39-all of the following has high risk of thrombosis except:
· Myocardial infarction

· Eosinophilia????

· Cancer
أتذكر كانت الأشياء الثانية كلها صح فاخترت هذا لأن ما أدري وش دخله
40-amyloidosis in long period hemodialysis

· beta2-microglobulin
· A beta
41-one of the following cancer is associated with EBV :

· Nasopharynx

· Gastric cancer
· Lung cancer
42- one of the following is the best determination between malignant & benign tumor:

· Metastasis

· The size of original tumor
43-hyperplasia is:

· Increase size of cell
· Increase no. of cell
